
نفیسه بینش: مدرس



طریقازاست،جامدذراتحاویکههوایاگاز•
.می‌شودواردسیکلونداخلبهورودی

سیکلونمرکزیمحوردوربهگازورود،ازپس•
ینیروایجادباعثچرخشیحرکتاینومی‌چرخد

.می‌شودمرکزازگریز
اززمرکازگریزنیرویدلیلبهسنگین‌ترذرات•

وردبرخسیکلوندیواره‌هایبهشده،جداگازجریان
.کنندمیحرکتدستگاهپایینسمتبهومی‌کنند

مخزنیکدرذراتایندستگاه،پاییندر•
.می‌شوندجمع‌آوری

ازنسیکلوازعبورازپسذراتبدونوتمیزگاز•
.می‌شودخارجدستگاهبالایخروجیطریق

باهاگازازجامدذراتکردنجدابرایکهاستگرداب‌سازدستگاهیکسیکلون•
.استشدهطراحیمرکزازگریزنیرویازاستفاده





حلالگوریتم



.شده‌اندجداگازازمؤثربه‌طورگازجریاندرموجودذراتازدرصدچندکهمی‌دهدنشانEfficiencyبازده•
ازمعینزمانمدتدرمی‌تواندسیکلونکهاستگازجریانیاحجمنشان‌دهندهThroughputعبوریتوان•

.دهدعبورخود

Dسیلکونقطرتعیین.1

حلالگوریتم



.کردعیینتاستشدهمشخصشکلرویکهراسیکلوندیگرهایبخشاندازهتوانمیفوقجدولبهتوجهبا•

حلالگوریتم
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مثال


